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1. Determine I;,1,13,V, in the circuitinFig. 1 using 1d0p analysis. (20%)
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Fig. 1
2. For the network shown in Fig.2, if V1 =6V,V2 =2V, find V,.,V;,Vy,Vy, V2, Vi, Vo . (Assume ideal

op-amp and voltage supply of op-amp is £15V ) (20%)
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Fig. 2

3. For the circuit in Fig. 3; use Thévenin’s theorem to find v, (¢). (20%)
10Q2 2H
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Fig. 3
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4.Find C in the circuit in Fig. 4 such that the total load has a power factor of 0.98 leading. (20%)

+ ' Balanced
Balanced |24kV rms three-phase
three-phase |— | load
source 20kVA
60Hz 0.75 pf
lagging

Neutral

~CRC %C

t—e
Fig. 4

—5s
%, find (). (10%)

5.(a) Given Fi(s)=
(b) Use initial value and final value theorems to find the initial and final values of f5(¢) if

s2+2s+2

B(s)=—F——
3s(s? +4s +1)

. (10%)






